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1. Who is the president of the National Development
Council?

(a) Vice-President (b) RBI Governor
(c) Home Minister (d) Prime Minister
CaEW auej&S 56 65TE160160T & 616V 6UIT WITI?

(b) RBI &eujeury

(d) My

(a) gremevor RermALL
(C) 2_6TgIMM SNMLDESFT

2. NITI Aayog or the National Institution for
Transforming India replaced which of the following
commission?

(a) Public Service Commission
(b) Civil Service Commission
(c) The Election Commission
(d) The Planning Commission

NITI g4Cuimé 160608 QHFWITEH6EU LOTHMI6USMH S 6o

GCg&w HimieuetLd L6ITEU(HLD 6TIHE 2y 61 650TILIS DG
LOrHMHILIG?

(a) QuIT g Caemeu Sy, EMETTILILD

(b) AaNev FFafev oy emevorwiLd

(c) Cais6L Sy eMevOTILILD

(d) HLL8Gw

3. The main aim of the Eleventh Five Year Plan was
(a) Eradication of regional imbalances
(b) Food, Work and Productivity
(c) Inclusive Growth in all sectors

(d) Eradication of Poverty

uSGermymeus) RHG e (H S HLLGHer (Lp&Sw
Crré&aLd (a) NITHAW gHDSSTLDES M LS 860
(b) 2_ewrey, Geusmev WHMID 2 HLSHSH M etr

(C) smeng g giemmeefeild 2_eTemL il euerjsé

(d) sumiemin spLfliy

The 12th Five Year Plan was applicable to and from

which of the following periods?

12-eug) RhsneanG s SHLLLb HeTaubLd 6hs &

SMUSLLSHMGL QUT([BHHGILD?
(a) 2005-10 (b) 2004-09
(c) 2012-17 (d) 2007-12

Which programme given the slogan of Garibi Hatao?

S @mL TG 6T6TD (LLPSSHSHMS aULpMISIL L LD

g2

(a) 7th five-year plan (b) 3rd five year plan

(c) 6th five year plan (d) 5th five-year plan

Jawahar Rojgar Yojna was launched in:

Leauamy Crr®s [ CuIrherm QHTLisULLL §):

(a) 5th five year plan (b) 6th five year plan

(c) 8th five year plan (d) 7th five year plan

Which of the following statement is correct about the

NITI Aayog?

(a) NITI Aayog was Formed 25 January 2016

(b) NITI Aayog comes under the Ministry of
Commerce and Industry

(c) The full form of NITI Aayog is National institute

for Transforming India
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8.

(d) The NITI Aayog is a policy think tank of the
Government of India

NITI 95 CGuird umHMlw 6T euHLD &a.HM)&erfl6L 671G

flwimes g2

(a) M 24,Cuims wevreu] 25, 2016 S6TMI 2 BHEUTHSLILL L F)

(b) RA 21, CWITS ujSHHSLD LDHMILD AHTLNELFIMM
UMD EE &S H6T S 61 HMG)

(C) B& o E6T ((1p eulgeuLd QhSWmeneu
LOTHMIEUGH &6 C&H W HIMI6UEILD Iy (HLD

(d) RH 25,CuIns eTetTLIZ QHHUW SPTE6HT QB TETEN S
SH G D6 S (§(LPEUMGLD

Which of the following statement is/are correct about
the NITI Aayog?

I. The aim of NITI Aayog is to achieve Sustainable
Development Goals and to enhance cooperative
federalism in the country.

I1. The Prime Minister of India is the ex officio
Chairperson of the NITI Aayog

I11. There are 8 full time members in the NITI Aayog

& Cwirs umHmlw LleiTeubLd 1M & 60 & &earfleL 6T g

sflwmeg) ?

I. D& o Cuins &6 ChiTs LD [5l6m6LWITET UETHES
8605 (G & M6 MU LOMMILD HITL 16D ol (K6
oL LML Slenw Cobu®hSHFleugl SpGLd.

Il. @bHw NFgLoF K o1, Cuims e AHSTTLY e

SHEMEVOUTITS 2_6TENITI
1. B oy, Cuird &ev 8 (PP CHY 2-MILITN6DT I &6iT
(b) Only 11
(d)Only 1 &1l

2 eementy (2) Only 11 & 111
(c) Only 1

9.

10.

Which of the following is not the function of the NITI

Aayog?

() To evolve a shared vision of national development

priorities sectors and strategies

(b) To foster cooperative federalism

(c) To give final approval to the Five Year Plans of

India

(d) To create a knowledge, innovation and
entrepreneurial support system

NetTeu i eucTeumMieL 61 &) B 1, G s & eor

QEwesLLm(H S16L6V?

(a) CaAW NS H) (TN OLOS 6T GIMMS 61T
LMHMID 2 §H&6T uHMIW UEJULLL UTje el
2_(IH6UIT& (& 6L

(b) sl BmeYy Fnl LT HemW 6uemjsHs

(c) @pHwnelsr RbaTENES HIL s EhHE @IS

@IS 60 LIS Geuesor (hLD
(d) siffley, ygiemio HMID AZTLNED (emeTCoury
ST

3{6MLOLIGHLI 2_(Ih UM & (5 & 6L

Which of the following is not matched correctly about

NITI Aayog?

(a) NITI Aayog head office: Delhi

(b) Narendra Modi: Chairman

(c) Parent Agency: Government of India

(d) NITI Aayog replaced: National Development
Council

& 4, G &L Ll6HT 6 (16U 6T euMMICL 6T &) FHIWLIMSLI

QuT B H S adlevemnev?

(a) &) B CWITS HEMELEMLD VAUV LD: AL 6LES)

(b) BCyHEy GLomy.: Hemeveur

(c) smi Hmieueid: @HHIW T8

(d) & 24, Cuind IHOUILLL g CHAW auenj&s
56 60T &l6L
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11. NITI AYOG was established on

& 9, Cuid Hmieuiur L g)
a) 15th August 2015 b) 26th January 2015
¢) 2nd October 2015 d) 1st January 2015

12. “GRAND INNOVATION CHALLENGE” was
launched by
a) NITI Aayog
b) Planning Commission
¢) National Planning Committee
d) Finance Commission
“HlymevorL_ @) 661 Georr Geueeit C&ev(ehE"
QAsTLRISLUULL G
a) N&H o Cws
b) HLL &G
C) Ca&AW L LLOIL 6L & (19
d) H &) oy emevorwiLd

13. Which is true about the Economic reforms in 19917

1.Disinvestment (Selling Public Enterprises to Private)
acts as a basic features in Economic reforms

2. Industrial delicensing 3. Foreign investment Policy

1991 60 6J MUIL L QILIT (561 & TIEY &) (15, & & Ml & 611G M & G615

2_6U0T6OILD?

1. (PH6SE (AU HM)eU6THIS M6 §6flm &G aflhLg)
QummeTm STy &1 &H)(h S S M!S 6fl6L 6 (Ih SigLILIEHL

SILDFLOTS
Qsweou@GHMFI

2. QgmfleLGImM 2 HIOLD EULPMIGTLO 60 (1S & 6L

3. QeuefBML G (PS5BS QsmeTens

a.Only 1 b. Both 1and 3

c. Both2and 3 d. All are Correct

14. Which of the following released by NITI Aayog?
a. Atal Tinkering Labs (ATL)
b. Water Composite Management Index
c. Health Index d. All are Correct
LN6tT 6 (Ih 6u 6T EUM M6V 6T 63T R1.23 34, CITS QeuefluilL g2
a. SIL6V 1q.MMI& T 9y 161 &M & 6iT (ATL)
b. B &L (5 GLOGLITETITEMLO BIL_L_62165)6TT

c. HEMHTT L 61606301

d. 166U SHGILD FFILLIT 60T 6BI61

15. “Faster and more inclusive growth” is the theme of:
"aflenJeUT6IT LOMMILD 166 S MHSGIILD 2_6TTeTLSEIW ueTH&E"
TEOTUG hs RHSTEIG S L SHHer &([HLCAUTIBEIT:

a. First Five Year Plan b. Second Five Year Plan

c. Third Five Year Plan d. Eleventh Five Year Plan

16. In India Plan holiday was implemented after
five year plan.

a. Second five year plan b. Third five year plan

c. Fourth five year plan

@pgwrelsd  obs @hHTWB HLHIBG LIBG L
aBpenB ieMdalur L g?

d. Sixth five year plan

a. @QewILmD ehHTEB S L LD
b. apsipmd mpbHTEHE S LD
C. BI6iIBID DMbHTewI(H HI L 1D

d. oummb mbsTenH &L

17. The Chairman of 14th Finance Commission is
14-6ug1 BAHHS el Hemeveur

b. Vijay Kelkar

d. Subba Rao

a. C. Rangarajan
c. Y.V. Reddy
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18. When was the first economic census covering Non-
Agricultural sector taken in India ?
@ndwmeailey afleugmuid S1606VMH GI6HMS 6T
2 6T & & (LPGH6L QUT(HOTTSHTTS & 600156 8B LY
eTuGUT G| TG HSLILLLGI
a. 1980 b. 1977

c. 1951 d. 1961

19. Which of the following is used for measuring the
economic growth of a country ?
a. National income, indicated by the Gross Domestic
Products
b. Per capita gross national product at current prices
c. Total real gross national product at current price
d. Total gross national product over a period of time.
(b HITL1q.601 QUITHEMTHTY UM FEF MW TS S
LN6tT6u (HeueTeummieL 6T &) LweiTU(® SSLLG Hm G
a. Ga&W eu(mHLOMETLD, QNGS 2 6THTL (G 2 MHuSHHwmeL
AU OUGHMG)
b. HCuremgw eemeouiev HafBuUF QrEs C&HHAW
2 HUSH
C. HCummGW aflsneoullsL QDTS S 2 600T6MLOLIIT 60T
Qs CHAW 2 HUGH
d. @ GMUILL &Teugdlev Qs CHHAW
2 mugs

20. The average annual growth rate of agricultural and
allied sector in the 11th five year plan has been

achieved at ?

21.

22.

23.

116ug)l RHGmen(H HL_LGH6L alleugmwLd mHmIb
MG &MHG GlOMseflett Fyma gy 6uom(H euenj&s
aN&HLDd eTH6L T L LU B 6iTeng?

a.3.60%  b.3.10% c. 5.70% d. 4.50%

A bank gives 6% SI on deposits. Find the amount to be
deposited to earn an interest of Rs. 45 in one year.

@b URIEWTETH] MEULILS AHTMESSG 6% GevfleuL lg
QUPMHIGH MG 2 UBLSHMD (S 6UL g Rs. 45 HOL 58
sTeeU6TEY MEULILSASTM S QFeVI5HG Gerevor(BLD 676018
TG0 5.

a) 450 b) 750

¢) 1000 d) 800

The cost of a T.V. is [J 30,000. The company offers it in 24

months, but charges 10% interest. Find the monthly

installment the purchaser has to pay.

@@ Himieued @& Ten & 6mL 10% 6ULIg.UL 65T 24

LOTSS &6UMETIINTG S LD 6TeTH TG @60 G

UM GLI6UT QF6VIHS Cer6oiTiq LI LTSS & 616D 6u0T

6TEU6UETEY?
a) Rs.1500  b) Rs.1200

¢) Rs.1600 d) Rs.1400

The difference between C.1. and S.I. for two years on a sum
of money lent at 8% p.a. is [140. Then the sum of money lent
is

@ L6 QG s L) 2 460511 &61M6L 8% 2y, 6601
a1 efFLb 2 9,60 [H &6efleb HemL&@L Fal B

UL 1.8 (GLD 6tfleul 1q.8GLD 2 6Tenm NS HWMEFLD (1 40

eT60fl6L 315 0C & TN
a) Rs.6,250 b) Rs.6,000
¢) Rs.6,150 d) Rs.6,200
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24,

25.

26.

a) Rs. 1056

27.

Simple interest on a certain sum is 16/25 of the sum. The
rate percent, if the rate percent and time (in years) are equal,
is

@ QBT ST6 & 6vfleUL 1g LIT6HT &) 2156 &6 & uflesr
16/25 LOLTRI&TS 2_6TeN G, GLOGYILD QLG LLITEUT S| &IT6V
Sienailh(@ FLOLLTS QHHSTEL AbHG UL Lg. 6T6L6UETE?

a) 6% b)8% ¢) 10% d) 12%

The rate percent per annum, when a principal of Rs.7,000
earns a simple interest. Rs.1,680 in 16 months is
16 LOMG Ml (EH (G (P &0 QFUWILILILILL 316D Rs.7,000 -
&© QuDUUL L eu(BLTHEHT FTSHTI6UT UL 1q.5 0 & TN
Rs.1,680 6T60fl60, 34,600T(H 6UL_Lg. & EIBLD 6T6TLIG)

a)8% b)18%

¢) 16% d) 15%

Rs. 800 amounts to Rs. 920 in 3 years at simple interest. If

the interest rate is increased by 3%, it would amount to
€Ih. 800 4,607 &6vileuL_Iquilev 3 QUHL-GH6L €. 920
SEME)I. UL UL Iq 3% 2 WTHHLLLLTEL ACH
&T6VGHH6L HeML&(GLD QAHTNS 6TELUCETE?

b)Rs. 1112

¢)Rs. 1182 d) Rs. 992

Find the rate percent per annum when a principal of Rs.
5000/- earns a s.I of Rs. 1600 in 16 months?

€Mh. 5,000 EFVI& (G 16 LOMG IS EF6L €. 1,600 GevfleuLlq
FHOLSFHT6L, UL Lg QNF G &N &S SIT60TS 2

28.

29.

30.

31.

a) 20% b)22 % c)18% d)24%

The difference between compound interest and simple

interest for Rs. 8,000 at 10% per year for 2 years is

Rs. 8,0008(& 10% 6UL_1g. @IGLD 3y 600711 (G 6T6ofl60 2

21,6901 (5 & 61fl60 FaL_ B 6UL 195 GLD 56 QUL 19.8(HLD 2_6iTem

all§Hwmsd
a) Rs. 75 b) Rs. 80

¢) Rs. 85 d) Rs. 100

The difference between simple interest and compound
interest of Rs. 18,000 in 2 years is 405 then the rate of
interest is
€. 18,0006 2 U(HL FoL_ (B UL Ig. LOMHMILD & 6vf)
UL 1quNledr NG HWIMTFLD €. 405 6T60160 UL I1q.6GLD 6T 63T 601
?

a) 10% b) 15%

¢) 20% d) 25%

Find the principal that will yield a simple interest of Rs. 300
in 3 years years at 2% rate of interest per annum
21,6001 (H QUL lg afLD 2% a5 3 9@ H &S &6vfl euL_lg. ¢rb.
300 &ML & (FLD 6T60116L FMEVLE &IT6TIT 5.

a) €1h.5,000 b) €Mh.3,000.

¢) €1.2,000 d) €M, 1,000

Find the difference between Simple Interest and Compound

Interest for a sum of Rs. 8,000 at 10% p.a. in 2 years.
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32.

33.

34.

€. 8,0008(& 10% 6uL_lg.eFLD 6T ofl6L @ iyevor(h
94,6001 (5 & 61fl60 FEML&(GLD Sl (B 6L 1. & (GLD & 6vfl
UL 1.8 GLD 2 6iTem NS EWIMTFLD &IT6w0T5:

a) Rs. 800 b) Rs. 80

¢) Rs. 80,000 d) Rs. 10,000

The simple interest on Rs. 68,000 at 16(2/3)% per annum for
9 months

4,600 (5 & 16(2/3) % QIGLD 68,0008 9 LOIT S S H D& M6

G6ofl euL_1qWImeoT g
a) €l.1,200 b) €15.8.050
¢) €1.8,500 d) €M.1,020

The simple interest on a sum of money will be ] 200 after 5
year. In the next 5 year principal amount is tripled. What will
be the total interest at the end of the 10th year?

P QBT ST6 & 6vfl QUL IG.WITETH) 5 UL SH6L 1.
200 UL EMEI. BSS 5 - UBLSHL (WG B
QTS WTETS) 3 - LOLMISTH MG 676116V 10 - euU(HL

Wiy aileL HeML&GLD QLTSS UL lg OGHTMS

eTeueUETEY?
a) Rs. 800 b) Rs. 650
¢) Rs. 700 d) Rs. 600

The rates of simple interest in two banks A & B are in the
ratio 5:4. A person wants to deposit his total savings in two
banks in such a way that he received equal half yearly
interest from both. He should deposit the savings in banks A

& B in the ratio

35.

36.

37.

A LHMID B g4, &lw @ yever(h euiu & & efleor
ST 1958 T6U UL IqWITEITE) 5:4 6T60TM OGS Heo
2 6N G| sp(H6UT ST (LP(LRSHOST®&mWIL|LD @\ 6vor (B

UMI&&6fleyILd S16M1 eU(HL EUL I WITET S| FLOLOTS
A5G uWTs NNEE (pGeSE AFWH DT eTefled
Siaf (WHSH AFIGH AHTOSIWTEIG) 6THS aNlFlsSFev
AIEAGIN]

A)5:2 B)2:5 C) 4:5 D) 5:4

The simple interest on a certain sum for 3 years at 14% per
annum is Rs. 210. The sum is

94,6001 (H 6UL_L 14% eTE YLD eLp6dTMTevor (b & 6afleL 6 (1h
Q5608 uN6ir euUL_Lg. €. 210 6T6elleL HG QBTN G

A) 480 B) 600 C) 500 D) 630

Find the rate percent per annum when a principal of Rs.

7,000 earns a Simple interest of Rs. 1680 in 16 months
€15.7.000 1FEVI 5 (G 16 LOMG RIS EH(S Ch. 1680 GevfleuL g
ML HHM6L, aUL_lg oI5 5058 & 6vor (B LTlg

A) 18% B) 8% C) 12% D) 10%

The difference between simple and compound interest on a
certain sum of money for 2 years at 2% per annum is[ /4.
Find the sum of money
2% 24,6301 (H 6uL_Iq.uTl6L 2 4,63 (B & (S PT AFNI&H G
LGS ol (B UL Iq.5GLD &6vfl 6uL 198 GLD
AenLGuiujsitem eflGHwmEFLd Rs.4 eT6ufleb ) 6uhnear
2IF6D 6T6OT6OT?
(A) Rs. 2,000
(C) Rs. 10,000

(B) Rs. 7,500
(D) Rs. 12,000
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38.

39.

40.

The difference between the compound interest and simple
interest accrued on an amount of 18,000 in two years is
Rs.405. Then the rate of interest per annum is
A\ eumLaisefleL 118,000 GMeT Fal B 6L Ig,
Seflaul_lg oy Hwaummier allGHlwmed (1405 eT6ofled
QUL 6uL g OFLD

(A)12% (B) 15% (C) 18% (D) 10%

8,000 compounded annually for 2 Find the rate of interest if
the difference between C.I and S.I on years is [ 20

8,000 & (& Q\6voT(H 24,6007 (5 &(E1H (S H L& (GLD Fa (B
6UL 198 (GLD, &6tfl UL 196D @6vL G 2_6iTen
allGHwWmELd (120 6T6fl6L aUL 1g OfHLD & T6v0TS.

(A) 5% (B) 10% (C) 15% (D) 20%

Find the principal on amount [111,800 at 6 % per annum for
3 years being simple interest annually.

e ermmever(B &6flev 6% Hetflaul g afgb QLTSS QA&TmS
111,800 MG (GLD SFMEVE &ITEO0TS.

(A) Rs. 8,000 (B) Rs. 9,000

(C) Rs. 10,000 (D) Rs. 9,500
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